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	Ques
	Answer
	Level
	Skill
	Subskill
	Item #

	1
	D  
	Moderate  
	Standard 5 - Biodiversity and Change  
	SPI 3210.5.3 New Species Emergence [99257]
	D109499

	2
	C  
	Hard  
	Standard 5 - Biodiversity and Change  
	SPI 3210.5.3 New Species Emergence [99257]
	D109498

	3
	A  
	Easy  
	Standard 5 - Biodiversity and Change  
	SPI 3210.5.4 Biodiversity & Adaptation [99258]
	D62714

	4
	C  
	Moderate  
	Standard 5 - Biodiversity and Change  
	SPI 3210.5.4 Biodiversity & Adaptation [99258]
	D82980

	5
	D  
	Moderate  
	Standard 5 - Biodiversity and Change  
	SPI 3210.5.4 Biodiversity & Adaptation [99258]
	D82973

	6
	B  
	Hard  
	Standard 5 - Biodiversity and Change  
	SPI 3210.5.4 Biodiversity & Adaptation [99258]
	D82979

	7
	B  
	Easy  
	Standard 5 - Biodiversity and Change  
	SPI 3210.5.5 Classification Evidence [99259]
	D81368

	8
	B  
	Moderate  
	Standard 5 - Biodiversity and Change  
	SPI 3210.5.5 Classification Evidence [99259]
	D81254

	9
	D  
	Moderate  
	Standard 5 - Biodiversity and Change  
	SPI 3210.5.5 Classification Evidence [99259]
	D81255

	10
	C  
	Moderate  
	Standard 5 - Biodiversity and Change  
	SPI 3210.5.5 Classification Evidence [99259]
	D81364
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	Question 1 of 10

	The gestation period for field mice is around 23 days. Mice are usually weaned around three weeks of age. 

Which population of field mice is most fit for life in their habitat niche?

	 
	 
	 
	 
	 

	[image: image1.wmf]  
	A.
	Field mice that reproduce once each year.

	[image: image2.wmf]  
	B.
	Field mice that reproduce twice each year.

	[image: image3.wmf]  
	C.
	Field mice that reproduce four times each year.
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	D.
	Field mice that reproduce five or more times per year.

	 


	Question 2 of 10

	Which process always increases the fitness of a species for a particular habitat niche?
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	A.
	decomposition
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	B.
	relocation
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	C.
	adaptation

	[image: image8.wmf]  
	D.
	competition

	 


	Question 3 of 10

	The following chart shows the classification of four organisms. Which organism is not as closely related to the other three? 
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	A.
	2
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	B.
	3
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	C.
	1
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	D.
	4

	 


	Question 4 of 10

	Use the chart to answer the following question. 
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Which two organisms are most closely related?
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	A.
	Box Turtle and Garter Snake
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	B.
	American Alligator and Box Turtle
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	C.
	Garter Snake and Komodo Dragon
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	D.
	Komodo Dragon and American Alligator

	 


	Question 5 of 10

	Use the chart to answer the following question. 
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Which two organisms are most closely related?
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	A.
	Pecan and Magnolia

	[image: image21.wmf]  
	B.
	Magnolia and Eastern White Pine
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	C.
	Bald Cypress and Pecan
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	D.
	Eastern White Pine and Bald Cypress

	 


	Question 6 of 10

	Use the chart to answer the following question. 

Which two organisms are most closely related? 
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	A.
	domestic sheep and domestic goat
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	B.
	donkey and clydesdale
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	C.
	domestic goat and donkey
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	D.
	clydesdale and domestic sheep

	 


	Question 7 of 10

	Use the dichotomous key to identify the organism shown. 
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	A.
	Selasphorus rufus
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	B.
	Ramphastos toco
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	C.
	Cervus canadensis
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	D.
	Ursus americanus

	 


	Question 8 of 10

	Look carefully at the leaf below. 

[image: image34.png]



Use the key below to answer the following question. 
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What is the scientific name of the tree whose leaf is shown above?
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	A.
	Quercus imbricaria
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	B.
	Populus nigra
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	C.
	Cercis canadensis
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	D.
	Quercus montana

	 


	Question 9 of 10

	Organisms are classified according to their similarities and differences. The more characteristics organisms share, the more classification groupings they have in common. 

Which classification grouping is larger than a family but smaller than a class?
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	A.
	phylum

	[image: image41.wmf]  
	B.
	division
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	C.
	genus
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	D.
	order

	 


	Question 10 of 10

	Which plant, shown in the cladogram below, did all the other plants shown evolve from? 
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	A.
	ferns
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	B.
	quillworts
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	C.
	clubmosses
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	D.
	flowering plants
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